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Instructions for the candidates :

Candidates must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer
Sheet.

Candidates are required to give their
answers in their own words as far
as practicable.

Rgures in the right hand margin
indicate full marks.

15 minutes of extra time have been
allotted for the candidates to read

15 fFe @7 il v Rear war &1 the questions carefully.
5 IE YT e @USI W & — wug-ar ug O This question booklet is divided into
’ E— two sections — Sectlion-A and
HUI-F _ Section:-B.
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In Section-A, there aré 1 00 objective

type questions,

50 questions are to be answered.
paluated in

out of which any

First 50 answers will be e
case more than 50 questions are

answered. Each questfon' cqmes

1 mark. For answering thesé darken

the circle with blue / black ball pen
against the barrect gption on OMR
Answer sheet provided to you. Do
not use whitener / iquid / blade /
nail etc. on OMR.sheet, otheruwise

the result will be treated invalid.

* https://www.bihartopper.com

In Section:B, there are 30 short
answer type - questions, out of
which any 15 questions are to be
answered. . Each question carries
2 marks. Apart from these, there are
8 long answer type questions, out
of which any 4 questions are to be

answered. Each question carries

rSmarlcs.

Use of any electronic appliances is
strictly prohibited.
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1 (110

WUS - 3 / SECTION - A

THFTS W / Objective Type Questions

oy wear 1%/ zaoaﬁtmﬁwwﬂmﬁvwfﬁ'ﬁﬁw-“ﬁ?’ﬁﬁﬁ
SDW*WWWﬁwWﬁm#mWWW#’ '
. 50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any
S0 questions. You have to mark your selected option on the OMR-Sheet. 50 x 1 =50

1 64% IS TURES # o o i &
A % B) 5
Jer 6 D) .8
The exponent .of 2 in the prime factorisation of 64 is
(a) 4 | . B) 5

€ 6 . D 8

2. WETH WS (p), ) x TG WA (p, q) WA &

o | e 2 |
q
© p’q? o <

HCF.(p,q)xLCM.(p, g)is equal to
- P
A (pxq) (B) e
2.2 ‘ p 4
) pq (D) -
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3. [l mgwe @) u e
(A % den ){ o1 ot
\er” gt gen ) T A wE T

The degree of any polynomial is
(A) fraction number (B) negative integer
(C)  whole number (D) none of these
4. aﬁq_‘\'ﬂx2+bx+c,aatﬂﬁr$mﬁm%
(A) B WaEed
(€) R @ | o) aTFc‘!ﬂIEIFIZT
The graph of polynamial\ ax? + bx+c,a #0 is
(A) _circle __ (B) parabola
(C)  straight line . (D)  hyperbola
5. YIS 2, 8 A0 SgURI T GEAT it

@ 1 B 2

c 4 . (D) SEhFE
S-1 |=| 17001-69/70) Page 448
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The number of polynomials whose zerocs arc 2, 8 is

A 1 B|) 2

(€ 4 (D) infinitely many

6. Wﬁumaw%wﬂﬁzﬁsﬁ.ﬁﬁﬂﬁmm

(A)  x®+12x+8 B) x?-12x+8

€ x%+4x+12 (D) x?-8x+12
if zeroes of a quadratic polynomiul are 2 and 6 then the quadratic polynomial is
A} x2+12x+8 (B) x2-12x+8
C) x° +4x+12 - (D) fz-BJ-c+12 '
7. TOA R y? +16y+ 55 ¥ THF §
(A)  IF TOTEF | (B) A TS
O T R RS (D) @
The zeroes of the quadratic polynomial y? +16y+ 55 are
(A) ~both negative (B)  both positive

(C) . one positive and other negative (D)  equal

8, a&ang 2x2 +5x~k & YEH T TH & ord &, al ke 1 @ _

A 2 . B -2

1

© 3 o -3
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10.

[110|

1( rerocs of the polynomial 2x’ +5x-k are reciprocal to each other, then the

value of k will be

Al 2 @ -2

() O -3

1

2

TR pix)=xl+5x-12@p()F AR
A -12 B) 6
() -6 (D) 12

If p(x)=x?+5x—12 then the value of p (1} is

(4) -12 B) 6

-6 (D) 12

o WHE 2% 4y=3 TN 12y +6x=6 FI T ¢
() (T T B T
© e ' (D) AR &

The solution of the pair of the equations 2x+4y=3 and 12y +6x=6 is

(A) ~ no solution (B) one solution

(C) two solutions (D) infinitely many solutions

S-I | =] 17001-69/70) Page 6/48
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ﬂ [110]

1. Feafafan F Y a3 vt @) w2
(Al Tng (B) TMAE

(€ == (D) A fade

Which of the following is not a measure of central tendency ?
(A} Mean (B) Median
(€} Mode | (D) Standard deviation

12. Wy 14, 15, '1‘_3, 16, 14, 15, 17, 13_,'1535“"@?’@%

@A 13 B 14

©r 15 D) 16

The mode of ohservations' 14, 15, 13, 16, 14, 15; 17, 13, 15 is
(A) 13 . B 14

(C 15

13.  Y9H U Wi WEHIE F A &

@A) 2 ,(;B]’ 3

€ 10 (D) 20

D) 16

-

L]
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[ 110

~rfic mean of first five natural numbers is
(a) 2 (B) 3
© 10 D) 20

14. RV 8, 12, 7, 14,.6, 13, 15 F T T

A 9 (B) 10
© u \LD/ 12
The median of the observations 8, 12, 7, 14; 6, 13, 15 is
@ 9 (B) .10
© 1 D 1
15. HIEF H AN T mmﬁﬂwwmwﬁa}%
| (A) HE (B) HMH
f(z{ AR D)~ T qHE =

The difference of three times of median and two times of mean is equal to

(A) mean (B] median
.(C) mode (D) none of these
S-1 |=| 17001-s9/70) g Page 8/48
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16.  a [ arell e @ &1 awa

(A a? (B) ---‘i—a‘r!—u2
J3 2 1.2
(C) 3 D) 54

The area of an equilateral triangle with side a is

A a2 (B) -—'}i‘:'"_-rznt2
(C) -‘:—;3;-:12 (D) _:lia:z

17. A FW Ht uitfy sl ot o ofcrg < 88 At & aXER @ Al
(A) T EAEA = B AR (B) G T GHE < T S
€ qﬁwm#a’!’rmw_ D) T | FIE Tl

If both the circumference of a circle and the perimeter of a square are equal to

88 cm then

(A)  Area of the circle = Area of the square

)

(B)  Area of the circle < Area of the square
(C) Areaof the circle > Area of the square

(D) None of these

F-78/78 S-1 |—1]17001-69/70) Page 9/48
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[ 110

18. IR u W vAlE R o v /), @ Sae et

& VEa @ B JZa T
(C) 3a m& Q} Jﬁ a 'ﬁ'ﬁrﬁ‘
If each edge of any cube is a unit then its diagonal will be
(A)  V3a units (B) . Y2a units
(C)  3aunits (D) | J6a units

19. B R a9 $9E H 99 UF degwig UE & S A

@) sRZHET R B %nRQH ¥ T
©) 2nH2R T 0 Zer?H

3

The volume of a right circular cone whose radius is R and height is H, is

(A) ©  sR*Hcubic units (B) %HRQH cubic units
€ %mzfe cubic units (D) %nR‘zH cubic units

20. AR < g F ST B AU 4 : 25 T 7l IH Browrat H U gW

A) 3:5 B 5:2
€ 15 D) 2:5
 S-I | = 17001-69/70) Page 10/48

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

21.

23,

[110]

If the ratio of the area of two circles is 4 : 25 then the ratio of tl"u:ir radii will he

(A)

€

aft TR M 1 g v (13- 2n) ¥, A F0H A AT AW

35

1: §

(B)

(D)

5:2

3

(A} 0 B -13

G2 oy -2
If the general term of an A.P. is ( 13 - 2n) then its common difierence is
A 0 (B) -13
€ 2 (D) =2

22. WHRR W 126, 120, 114, .. FFA-T T OE ?

& 209 B) 214

NS L (D) 237
Which term of the A.P. 126, 120, 114, ...is 0 ?
(A)  20th (B) 21st
(C) 22nd (D) 23rd |
FHET AABC ¥ £B=90", AB=12 ¥R, BC= 5 T T AC= 13 ¥l & & sinC
AR B
w2 B o
o £ o 2

S-1

17001-(s9/70)
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24,

25.

26.

In right AABC, £ZB=90", AB=12cm, BC =5

cqual to
)
w55 B 13
12 13
(€) 13 (D) 5
I cos 0 = p A tan 6 F TF &M
- p? 1
). 5 B 5
i
1+p
o -== }r z
l1-p /
If cos 6 = p then the value of tan 0 is
1- p2 - 1
B et
(A) P B D
+ JI + p2
© —=£ gy =
l1- p2
! -
sinf s
(A) cos@ " .(E‘( cosec b
(C) sccO : . (D) cotB
sec Bxcos B =
) 2 o/ -1
© 0 D1

“10}

cm and AC = 13 cm, then sinC,,

S-1 |—| 17001-69/70)
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29,

-~

T 1 - I ] -
Wia Ot = H_i_ 1 gee 0 F T i"{
LS

(A v3
(Cl 2

If cotd= L

T A=45° sin A+ cos A =

A V2
1
© 3

If A=45° then sin A+ cos A=

w V2

© 3

oM 2sina=2 W a=
@ 0

C) 60°

(B)

Y

5 then the value of sec 0 is

(B)

(B)

(D)

(B)

(D)

(B)

(D)

S -

&l

-

S

45°

a0°

[ 110
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If 2sina=2 thena =

A o (B) 45’
(C) 60° (D) 90°

30 tan2 I _

. cot69
A 0 B 1
' 1
€ -1 | DO 3
a1 af ansc-sorp, TUMEC) 9 ook po- 15%F A PR
go (APQR) ¢
w 2w o® 0%
© 8o (D) 12_@1"7
- PEC) 9 ,p- d BC= 15 cm then PR=

If AABC ~AQRReM{AFGR) ~ 4+ AP 18 cman
(A) % em B) 10cm
(C}) 8cm _ (D) 12cm

32. 4% APOR ¥ PR2=PQ2?+QR? @l 20=
&) 60° B) 75°
() 45° D) 90°
' S-1 |—| 17001-69/70) Page 14/48
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[110]

In APOR i PR = p)? 4 OR? (hen 2Q»

(A) 60" 1y 75"
(€)  45° () vo°
3. APOR W, 1% s ol 1 gpwr: ymail po owar pR ¥ S Y B ST || OR. s
PS = x A, SQ=(x-2)UM, pre(x+2) qof aar TR = (x- 1) Wl A, A
qH & ’
(A 4% B 45Ul
© 38 (D) 35l
In APQR, S and T are points on the sides PQ and PR respectively such that
ST [|QR.If PS=x cm, SQ=(x=2)cm, PT=(x+2)cmand TR=(x~-1)cm
then tlu; value of x js
(A)  4cm | B) 45cm
© dem D) 35cm
34, AABC'H fag p @R E wWn: o[ema AB @ AC R T VR € B DE | |BC. TR
| %%:%a’lmc:ﬂs.ﬁﬁm’mm
(A) s B 6¥H
© 10 % D 129
S-1 = 17001-(69/70) Page 15/48
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n [ 13

‘t‘ -\-'1}3‘1;,‘. D ﬁ'[“i E are p(ﬁﬂ[ﬁ on .”“.\ Sidrs 'a"lB ﬂn(i "‘{-‘ I‘C‘Specll'x‘ﬂl_\* SUCh [.l"

DE||BC. 1 32 .3
[1BC 1f R

3 and AC= 18 em then AE=
(A} Sem (B) 6Gcm
i1 10em D) 12cm
5.6 frew e g e e 4 o e Y A @
\1\ 10 ¥4 B) 6FH
LS 123 | D 3 &t
The distance between two parallel tangents dra':xn on a circle of radius 6 cm is

A} 10cm . (B) 6cm

(C) -12 cm (D) 36cm
36. wul o fag @ gu W et wet W e o g 8 2
&) o0 &

]

¢ aH (D). EFHd
How many tangents can be drawn to a circle from an external point ?
(A) One (B) Two

(C) Three (D)  Infinitely many

S-1 |—| 17001970
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37. VAW AFIF Laop=130° T zAﬁﬁ_' FIAAE
A

(&)  130° (B s0°

(C) 65° (D). 100°

In the given figure ZAOB=130"; then the value of ZAPB is
A

() 130° " B  50°
© 65° (D) 100°

38, @ Th el d 7P @ 1o ¥ WHER 0 ¥ AW FA W T EN € %
£PTQ=50", & £OPQ H WA &

(A) 30° (B) 25°
(C) 45° (D) 50°
S-I |=| 17001-(s9/70) " Page 17/48
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39.

40.

[ 11g.

ircle with centre O g,
In the given figure TP and 7Q are two tangents 10 the c o

that z.’PTO:.StJ“. then the value of Z0PQ is

& 30° - B 25°

(C) 45° o) S0°

AT QT e A @ e e v A e €
W o1 B 2 )

© 3 ) 4

- The number of common tangents of two circles which touch each other

externally is
(a1 - B 2

© 3 4 o) 4

ﬁﬂé#@ﬁfﬁﬁﬁ O T T &% & T LAOB=40" Tl LOAB &1 TH %

(A]' 40‘-" . IIB] 60“
() 80° . : | (D) 70°
S-1 |—| 17001-s9/70) , Page 18/48
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(110}

In the grven figure point € in the centre of the circle and /Af)fl*r"lﬂ.{hrn the

value of LOAR s

A} 40" (B)
8o (D)

41 y ¥ W M fazat a1 qa g g

A (B)

2 (D)

Abscissa of all the points on the y-axis is

1
42 mﬁo,§,4.8....
\j/"!' (B)
8
e

(D)

-

60°

70°

F1Z T

any number

00| =

|

8- |—]| 17001 -p9/709
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43.

!llr;||

J
The common difference of the A 0, l'li" 3'-. g In
1 -
] . -4
© 3 0 =4

R WA AR & e g ( 5n-7) B, goqnt s W1l

i rd
A o ,{B\ =
) 2 \_;py/-a 2
If the general term of an AP is (5n -7 ) then ite first term in
@A) 0 B =7
€ 2 D) -2

g a(0,-8) 3R B[-12,0}ﬁﬁqaﬁaﬁhm$mﬁ:=;m fraia &

‘A] [010] (Bl ' {-61"'4]

M (=4-6) D) (-12-8)

The coordinates of the midpoint of the line segment joining the points A(0,-8)

and B(-12, 0) are
@& (0,0) . B (-6-4)

@ etk - D (-12-8)

S-I |- 17001-(69/70)
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'

N3

Xy ¥yl £ T I

-~
=
L -

W OMBC ¥ W § RS ax. ) Blx ) T R

i

o
4 122 coordina: ; oom fme A VADC ame AlX.
"l § Tl - R ——— - e =T o - -
'-_'-"""“E-s L e i, j——.—r‘l-. ——
ax = .- —
--— P Dy, S—— = e

- — o - = -_—
- X, - — - F = Fpe=]] —x = ~
= x- -t: xs..:;..—:—‘._.i-:'f:.j :l l:I: 4-‘—‘*‘1‘ y =5 -:":l_ - =
F b
1 T — i '-F - - 5 "‘:r-n_—'d,- E
- e }:"‘_-H:Q L =l =1l e = A 3 &3 ¥ <35
gt . - - = o - - |'-'-"'| { i - =
5 : = . = - ; - » 2
| i r 1 Fia 3 (o)
LS = J LY 4
e BN - = e -
™= =L D% = - s = = == = =
= BIRP2 3PS K)SFAR(6, 83\ TS 6. T K
(Al 2 124 -
~ — -
It 5 r:}’ v
= = - ~ a - —d B - e Tlew o= r'h,"--: ;-:
If the points BACY3 ). 04, k)and R{6,-3 | are collimear, Lacn K
! L
(A 2 = <
Y
Cj 5 Dy 0
j541 (3,0)8, Sl ToT Sle=i= Bt

== ::E_:E’. =379 (0,4).(0,0] 5%

4

=7 B}

S~

o
3

= -r—'-.; {D} = H
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48.

49.

nd (3,0) then its Perimg,

n0,0)a
If the vertices of a triangle are | 0,4) (0 )

’

will be

units
(A) 5 units (B) 12

units
(C) 125 units (D) 545

ﬁﬁﬁPIS.OI,ow,u:aﬂtms,amaﬁﬁgﬁﬁéﬂqﬂ%

.(}‘ 24 T THR \(B) 12 a1 IS
() 4l g oy 8T EER

The area of the triangle formed by points P(3,0), @(7,0) and R(8,4)1s

(A) 24 square units (B) 12 square units

(C) 48 square units (D) 8 square units

st 3 o vt AT 2 &
(A) Q0" j N d 180°
(c) 120° D)  100°

The sum of all the three angles of a triangle is

(A)  90° . By 180°
(C) 120° (D)  100°
S-1 |—| 17001-(69/70) Page 22/4¢
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50.  APOR H po~ pr v £Q=a0" al /p-
h"l "\POR lf PO: I'IIR ﬂnd JQ - 49“ lhcn £P=
(A} 40° (B) 80°
(C)  120° | (D}  100°
Sk % 169 wH & fog wher ceoy=3 00 Bx+ky=0 U T@E F
AT ?
Al - o ]
A -6 B
© = D) 6
6
For what value of k, the equations x+2y=3 and 3x+ky=9 represent
coincident lines ? |
; 9 1
A -6 . B -3
; .
© 2 D) 6
50. 4 %L=-§L=z—1 ot g e a,x+by+c, =0 ayx+byyt+cy=0 .
2 2 2
&l B
o) T (B) I E A
© i E O TR

(110]

S-1 |—| 17001-(69/70) . Page 23/48

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

| (110]
If -:—; = Hi—- = E;— Ehcn the solution of system of equations ax+by+c =0 and
a,x+byy+c,=0 will be
(A)  unique solution (B)  no solution
(C) infinitely many solutions (D)  none of these

53. frefefea § @ #9-w o @ § )

}( ‘ x?-4Jx +4=0 (B) xg—;%=9x

(O 2x-2x+1=(2-x) 42 D)  x2+4x+4=(x? -1
W’hich of the follo“iné is a quadratic equation ?
@) x?-4Jx+4=0 ‘B x2 -;12—=9x
€ 2x2-2x+1=(2- %242 D) x?+4x+ 4;(;:2 -1)?

e Frefitan 3 3 T e o g 2
(A) Blx+1)2=x*-2x+4 “(B) 4'x-x2=x2+5
() ‘(JExJ,JsT}? +x%=4 | ,(D]/ 16 x3 =(x? + 3x)%+7
Which of the following is not a quadratic equation ?

@A) 3(x+1?=x? —2x+4 (B)  4x ~-x?=x2+5
© (WExed5) il D) 16x°=(x? +3x)+7
S-1 |—| 17001-(69/70) Page 24 /48

BiharboardQuestionpaper.com



https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

i 57.

[ 110]
uft fgna ey 267 - pra p=0 A A , a p R A rim

AV 4 B HIA 0
() 0 8 (D) HIH A

If the quadratic equation 2x2 - px+ p=0 haa equal roofa then the value of

p will be
(A} 4 (B) onlyO
€} 0.8 (D) only8

56. T FHHEN 42 kxy =0 H HE A AATE T}, A g B A I
Ay k<-4 B k>4
(C) =-4<k<4 .(b] kw4
If the equation x? ~kx44=0 has no real roots then the value of k is
(A} ksw4d B) k>4
(C) =-4<k<4 (D) k=4
ufz o 741 A THET X2 - 3/3x-12=0 F AW, A a4p-3=
(Al 33 (B) -443
) 243 | D) 443
8- [—|17001-e9/70¢| - | Page 25/48
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W jo
. . l._‘:m Tl 1 s P >
af- ¢
?s-'.-;é (B = 4'/:;
C 23 {13 443
¥ FTEEIER 37 1. . F 4T TEE

Al 52 By 55

C 56 (D) 59

The 14th termof the A.P. 3, 7, 11,... is

(A) 52 -~ (B) 55

{C) 56 (D) 59

59. FefeatEa 4 sH-T 39 S § 2 2

M,—ﬁ,-zi,—z, Jm\/ 5, 15, 18,28, .

(C) 0-1,0-11,0-111,0-1111, ... D) 1, %%2

Which of the following is an A.P. ?

(A) -8,-6,-4,-2, ... (B) 5,15, 18,28, ...

(€) 0-1,011,0111,01111,.. (o) 1 13,

] 2!21 ]
-1 = o
S 17001-69/70) Page 26/
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0.

61.

62.

FEAN 3G 16, 1,6, 1,4, . ¥ A ORI
{:\‘! “ '{ & 5 w ‘iil I LBl

lC—I o 11 N 11 ¢ Sn

The i term of the AP, 16, 11,6, 1, - 4, .. 18
(A) 21+ 3n (B 1 - 58n

(C) Sn-11 (D) 11 ¢+ Sn

T S g Y oy el shvoer s oRm S @), @ 9 ST S

SR L B) 2R
€ 3R . D) 4TIR

" by B
RELE

If the circumference and the area of a circle are numerically equal, the diameter

of the circle will be
(A)  munits _ (B) 2 units

(C) 3runits (D) - units

3 Tt e ATt T ST A

A) 25x || . (B) 36n WA
) 64n A3 D) %Q-Eﬁﬁ’f"‘

The volume of a sphere of radius 3 cm 1s

: | .
(&) 257 cm® \LB]/%ﬂ cm

112

3 o Y

(C) 64r cm 3

g.]1 |—| 17001-69/70)
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“ﬁ%wﬁqﬁﬁrwuﬁtﬁtﬂ?mﬂﬁm

63.
2
(A) 10 W2 : (B) 1201: [t
: 2
(€ 25 JH2 : (D) 30m i
If the circumference of a circle is 10x cm, then its area will be
L 2
(A) 10% cm? ' (B) 2Qn: cm
(C) 257 cm? (D) =~ 30w cm |
64. UF TAV B oW, a‘laéﬁqrf‘m%m g A, aﬁmsﬁﬁﬁ.ﬁmﬂ
foenot it g a’nﬁ
(A) 55 |t @) 1045 FHl
(C) 2045 FH \ (D)  25/5 |t
The length, breadth and height of a cuboid is respectively 8 cm, 6 cm and 5 cr
then the length of its diagonal is -
(A) 545 4 : B) 1045cm
© 20/5cm . (D) 25J/5cm
65. 4 A Froar et SR H &TES &
W Bae B 156 g
7 . ,
© 2w vl 176 wh2
S-1 |—| 17001-s/70) Page 28/4!
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[110]

The arca i
101‘;1 Semi-circle of radius 4 cm is

(A) 128 o

7 tm (B) lg_ﬁ_ cmz
© 5 5

& (D) l:’,;,-'fl cm?

66. ﬁwﬂaﬁmﬁ@mﬁm-qﬁﬁm% ,
s S
© 2 or 2
: Which of the following cannot be the probability of an event ?
(&)  25% g | ®) _g_
© 3 | o 32
67. Al qaaq o g’ﬁr x
& o0 o | B 1.
© -1 | D 2.
The minimum value of probability is
@ o c B 1
c -1 C) P
S-1 .' —| 17001-69/70) | . | Page 29/48
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T TR S ) P e T ) s @

68.
A 0o B 1
e 7% % .
A dic is thrown. The probability of getting an odd number is
(A) O B 1
(C) % (D) 31- -
69. aik T ¥a ot # sl 0.7 8, A g @A A e e
@ 3 B i
© o 2
If the probability of winning a match is 0-7 then the proha_bﬂity of losing it is
W 3 ®
© :1-35 - o 2
70. = ¥R A $ T UF W F TGS A WV T e G Frehren S €, @ §
IR 1 1 GG A I E
@) % e ®
© 3 o 2
S-1 [=| 17001-9/70) Page 3_{;;
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71.

73.

(110 ]

A -
card is drawn at random from a well shuffled deck of playing cards, then the

probability of Betling a black king is

(A)

3

26 ® 5
]

€ = 3

% D 33
sin30 .

s X =

307 <eot30° =

L B 2
© 3 or 1
1-tan?45°
1+tan?45°
(A) sin 90° _{B}— sin 0°
(Cl mn 900 M Sin 459

@5 (7,10) UK T Rm e 2 -

(Al

(€

- .

SIH T B) Ead 9=

T " O @R

In which quadrant does the point (7, 10) lie ?

(A)

(C) ‘Third quadrant (D) Fourth quadrant

S-1 |—| 170019/
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i o S

‘A £ e
5 . 5-3 ":
= -
F- -z = *
- i - g L4 4 - - -
‘e roW S S B R E SRS S wme T
£
/»/ G =  zx
- G. % = 3
. - - = o % o e
s 1t Lot atesy of sy Db o e rETs T Lhiee Ir=
o
g m—
e 0 Y i xx
T f i3 =i ey e
L@ 50, 7 . xz
sz - - - % - = S . e i —= -
J % BE W TAIZ T LIS 50 - Ligd &, 1 - T @S

= -z
= =

€™ i

g o > .

8 45
< D 90
S |-
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[110]

77. Wﬁﬁﬁﬁ'_ﬁ“(w.ymﬁﬁg
R P o [Frw
©  (x+y) 3 D (k2 +y?) T

® 2 unies B <2 units

€} (x+y)units (D) . (x2+y?) units
78, faga P{_,S_{?}-@ﬁ?_ Q(8,11) & dg H g ¥

w31 e s

Cr 13T D) 63

The distance between the points P(5,7) and Q(8,11) is

(A) 31 units (B) S5 units

(C) 13 units (D) 6 units

-79. @ y = 4 w1 Ao Frer A Q few fg & e el 2

(A) (4, 2) B) (2,4)
(C) (4,0) (D) iﬁ@ﬂﬁéqﬁ

The graph of the line.y = 4 passes through which of the following points ?

&) (4,2) B) (2,4)

(€ (4,0) (D) none of these

-
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80. 7 fag & Fdwiies @

WY (0,0) @ (t1)

© (-1,-1) o (10

The coordinates of the origin are

(&)  (0,0) (B) (1, 1)

€ (-1,-1) o) (1,0)
gl. Frfafas ¥ - T o wHa HE ¢ 7

A 0 (B) =

€ 1 - D) 2

Which of the following is the smallest natural number ?

=

@ o | B)
©(C) | 1 . (D) 2
82, Fefetad §en-at ol wem e 2 h
wwE . B
(©) -—Jl; | . Vte’ 3443
Which of the following is a rational number ?
(A V25 B 5
(€) 71-5 | D) V3+/3

| 11g,

| S-1 |=| 17001-s9/70)
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L1

[ 110
ateillaa o .
REEA O )y 4 IR ey ) )

N 1.3
- 1 Jio
() Jr'—-: .
. M xS

0 T\ \ 1
u" W 'll‘l}‘. 1% l“.l. “"'Il“n”“l 1““"1““' l|

A 1.3
t 6
g .
() 27 M) V5 x5

IR p AR g ST Fea ¥, @t s Ho Wo @I
(A) - 1 B) 2
i) 3 D) O

If pand q are two-prime numbers then their HCF will be

@A A B) 2

€ 3 D O
0-13 =
' | 13
13 B ==
(A) 100 90

: ' . 3
le;l P g5
1 99
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x

18 7 73 %) Qa 7o }

A IR (£ 72
X G 2
The WO F of 1Band 7218

LAy 18 e 72
c; 9 (o) 2

—_— o = B #
\'.!2 EARFITEEHE T 'é‘:;"i 2

W/‘E (E)

2
< V6 o 27
The rationzlising factor of V12 is
(V3 - ® V2
c) 6 _ D) 23
wpwmmj?%mmmﬁﬁﬁﬂ
(4 v 2p @B p*l
(C) p (Dj 2p+1
If p is a positive integer then the form pfpositi\'cm'cninmgtris
(A) 2p | B) p+l

< P D) 2p+1

-1 |- [ 170015770y
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g' [110]

17
W s
B 12
41
o 3 ,
’ wi 2
80

N oa ® 5

© 2 | @ e
90. ﬁnﬁﬁaﬁ % et <o v s 2

W a0 . ® &

' e

l

Which of the following has non-terminating decimal expansion ?

- 17
15 - =
B 256 B %0
' | 14
' 13 D) Zoo
© 131 . 400
@-— 17001-(69/70) Page 37/48
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n | 110}

91 AR o T ¢ TF H0T & A
(A) cos () = cos ¢ (B) sec 0 = cosec $
(C) sin0=sing¢ (D) tan0=tan¢

If 0 and ¢ are complementary angles then

(A) cos0=cos¢ (B) sec 0 =cosec ¢

(C) sin0O=sind (D) tan0=tan@®

92, sin2?5¢+sin215ﬂ=

A 0 : Mn

Q-1 D) 2
93. ‘l+tan?0=
o g @,}/ sec?0
€ -sec?0 Pl eos®
94. 2(sinZa+cos’a)=
w1 B 0
LI o -1
S-I |=] 17001-(69/70) Page 38/48
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(110 ]
a5 (Seorec 0o 8012 )
(A} ] i 5
€ -5 m 0
o TR 30=180" B cox -
(A} 0 | 1
(C) % (D) -}5
If 30=180"then cos a =
A 0 B 1
© 4 o
97. AR asin=1 3N bcogh=1 A tan 0 =
w2 ® 2
€ A o %
If asinB=1 and bcos!}:l-thcn tan 0 =
w2 | 2
© 1 S
S-1 17001-(69/70) Page 39/48
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n [110)
98. 71'3" e A ¥ 7

A)  sin 30° & wn 30°

(€] (eostlr (D)  tan45°

Whose value is % ?

(A) sin 30° (B) tan 30°

(C) cos 60° (D) tan 45°
99, IR secO+tanf=x @l tan =

W 2 -

© = o £z

If sec 6 + tan9=x. then tan 0 =

(A) x: :l {'B] . x;;-l

“ x2x+ 1 (D) * xgx_ 1
100. sin? ¢+1+tan2¢ =

A 1 B 0

' 1
(C) sing D). 3
S-1 {—| 17001-s9/70)
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[ 1it ]
AL N T
e
{ A | Bhtrd Auwwnr 1 yps Guantinne
et ey g g 4,
| T I 0t ) g0k ) foell 1 aveth e e A 0 i ot
iy a sl fipylfyey 4, 4~ a0
18 » 4~ &

Caesstion Ny, T

4108 Bl Assissinns Y ot Cpiinatingis firiptied tapef |5 egrerehioorits Firee b
sl ¢ursios 4 titir k4,

I Sl |4
e-'"/
A

TIRE : Py it " s L
WY il Bpen s Wb A, (0 a0yt @G 4

i

Kt the pigen ol 1 Viargde wibierse yegtive s mee ( , | A B bpannf-3,-5)
l’)I'/ f PI -ﬁi . [ Fi » . i

7 iz fi Tﬁ! AL %0, 10(4, LA R R AR A A 7

If pointe A (4 5

b A K} mnd (00, %) wre collinenr then find the
vilue of

3. 'i"u: w1 f ( I 10 A A
/ l'lfm_jJ 3’ 4

P
Prove that .-l..t.lfn’f‘l
27y = tan” A
-1
?A""H L P P s oL ] 2
Find the roota of the quadratic cquation 1° - 22 x41-0
5. afz i s s s wpws w1 = ¥ 7 T e 9
If the sum of & number and its reciprocal is — ,3 . then find the number.
8-1 |=| 17001 w817 Page 41/45%
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.
.r

]
n ' o
"

Q_,--"ﬁrnm N 21, 18,15, . T BI-@WE 81 £ ?

(™ ]

Which term of the A.P. 21, 18, 15, ...is -817

3% WA fget #) S 7 ot Freet qe 2a 2

=1

Find the height of an equilateral triangle whose side is 2a

8. %@T@vzm%mfaﬁﬁﬁivﬁmm_qﬁmﬁn?ﬁﬁém (5,718 g%
fwi® wa &1 2
The co-ordinates of the mid-point of line segment AB are ( 2, 4 ). If the
co-ordinates of A are ( 5, 7 ) then find the co-ordinates of B.

sin® l+cos®

3/ f‘\ﬂ?&’ﬁﬁ1+c059+ Sinb _ _ 5cosech. 2

1+cosb siné

2 ¥ Trcost ~ QOO0

Prove that

10, Tt Breget & o N7 AT 40° E1 Q) FIO o TN y F AW H AR 30°8, T

The three angles of a triangle are x, y and 40°. The difference between two
angles ¥ and y is 30°. Find xand y.

11. FA P V13- x2 = x45. | 2
" Solve V13- x2 = x+5. -
ysesﬁﬁ&maﬁaﬁ‘fﬁﬁaﬂaﬁqswﬂmmﬁi 2

Find the curved surface area of a hemisphere of radius 3-5 cm.
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[110]

it g, sk g R T PEEE R 2

%0"&5?53“;,%0[_2 t'hertmutisnummmﬂnfmcmrinpmldq-
q9
#

NORR I s sy e e 2
?’mdthemonaurthcpdgmuﬁalf-x-i
1S, TS = #W 26} v oF e 0 wEw w1 9 T 2, & et T A
2
The difierence of two numbers is 26 and one number is three times of other;
then find the numbers.
16~ 59K 521 8,3, - 2, ... 9T 22 T = 401 T HI 2

Fmdﬂmcﬁmnfﬁmtﬂtzrmsefthe'ﬂ.s,&—l

7. FIERIGIRS KA I0TH @ R E RS e =
= T 30° §1 TR A $91E 79 =1

2
From a point on_the ground which is at a distance of 30 m from the foot of a

tower, the angle of elevation of tower is 30°. Find the height of the tower.

15 o o

2
latanﬁ] = cot? 6.

2
Prove that 1=gotd i = cot2
1-tan®) -
12._/&&1 45' cos45° - sin 30° cos 30° T HH &t | 2
Find the value of sin 45° c0s45° - sin 30° cos 30°.
S-I |—| 17001-9/70) Page 43/48
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n ) | [110}

y msﬂn%ﬁ}mtﬂﬁﬁ;mnﬁﬁmmﬁ‘ 2
If cosﬂ=%, then find the values of cot A and tan A.
21, IR P{;ﬂ}ﬂﬂﬂﬁﬁﬁ'ﬁ{ﬂssﬂéﬁﬁ’llﬂqﬁmﬁ! 5
If the distance of point P(A,4) from origin is 5 units, then find the value of 3.
/é?/ﬁﬁw.ﬁﬁﬁ'ﬂﬁWSx+tﬁy=9Qﬁ3x+2y=4aﬂﬂﬁﬁ$|ﬁl 2
Find the solution of the equations 8x + S5y = 9 and 3x *.2y = 4 by cross-
multiplication method. :
}/ﬁaﬁ%m@hmzy.mw".mww1. | 2
| Prove that tan 48° , tan 23°. tan 42°, tan 67° = 1. |
/5‘4-/ @maﬁqﬁmﬁﬁﬁwﬁﬂ@ﬁ—l%r 7

Find a quadratic polynemial whose:_ zeroes are ¥3+1 and 3 -1.
25. T W F WA ¢ oot o g4 Wit &1 39 ot A oo 7@ < gwAaw =
TYg F T < A L . | | ' 5

A wire is in the form of a circle of radius 84 cm. Find the side of a square which
can be made by this wire, '

26. ﬁzﬁﬁfﬁﬁgﬁts,ay,mm&ﬂno,b}ﬁ@ﬁ,ﬂﬁ-1_+%=%, 2
. 2 a
Prove that points (3, 3), (a,0) and (0, b) are collinear jf L4 L - 1-
) _ a b 3
S-1 | =] 17001-(s9/70) Page 44/48

- BiharboardQuestionpaper.com



https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

29,

30.

{110 ]
fog

Eﬁ' ﬁﬁ lan:h-cn{": ¢+'2-3ch ¢ mst‘:’-‘% .

Prove that tan? $ +cot? b+ 2=sec? ¢ cosec?d.
ARy ¥ Wy it o R (g ), A (3,60 I (=340 F
TRy € 2

Establish a relation between x and y, when point ( x, ¥} 18 equidistant from the
points (3,6 ) and (- 3, 4).

W Sit et Reeett st 7 @ Rovsa § 2 .
How many three digit numbers are divisible by 7 ?

T L4, LB T £C; AABC ¥ 3 8 at g #t FF cosA;B -sinS. 2

If ZA, ZB and ZC are internal angles of AABC then prove that

A+B . C
cos 5 -smE.

Q‘H TR W31 / Long Ansm-;r Type Questions

YT WG 31 X 38 A AT F1 3 ¥ frd 4 T F T H RS W S
foe 5 o Frifa 3 . | 4x5=20

Question Nos. 31.to 38 are Long Answer Type questions. Answer any 4 questions. Each

question carries 5 marks., 4x35=20

.31,

3 wEet F T @ e 180 ¥1 AR B dew = ot ¥ Wew = W@ [, |
QAT W& T A 5
The difference of squares of two numbers is 180. If the square of smaller

number is 8 times of bigger number, find both the numbers.
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[110)

;Atﬁiﬂfaﬁ:ﬁmﬁmmqm 4x -5y=20 T 3x + 5y=15 FI 56 F| s

sin0-cos0+1 _ 1
}-/ﬁ‘z R sin0+cos0-1 " secO~-tan0

34.

35.

36.

Using graphical method, solve the pair of equations 4x-5y=20 ang

3x +5y=15.

o

h sinf-cosO+1 _ 1 .
Prove that sin0+cos0—1 . secO—tan0

5 W W A UF GHEE A % S U g9 @i o Be W g
Y | | 5
Draw a circle inside an equilateral triangle of side 5 cm which touches the sides

of the triangle.

fag #{ fp 3 waiae ot Y@et & wet fag # ST aen tEEve w0 w amw
B¢ s

Prove that the line segment joining the points of contact of two parallel tangents

to a circle is a diameter of the circle.

@mﬁiﬂrﬁmwﬁmwwtﬁaﬁﬁmwﬁéﬁﬁﬁﬁm%m%lﬁm
%Qﬁéﬁﬁw#aﬁmﬁaﬁﬁi“%waﬁmm: 30° 91 45° &, a Fe
WY W HUE T HE ~5

A vertical flagstaff and a 50 m high tower are situated on the same horizontal

-

base, From the top of the tower, angles of depression of uppér and lower ends of

flagstaff are 30° and 45° respectively. Find the height of the flagstaff.

S-1 |—=| 17001-69/70)
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a
7

38.

| (110}
F{QWWWWIB%H‘TWWWEFT:_ S
- HeRrer vt | 1848 | tsqe | azae | 191 | #k38 | 2309

T P} HEr 7 6 9 13 S/ S ¢
The mean of the given data is 18. Then ﬁr;d the unknown frequency :
Class-interval | 11-13 | 13-15 | 15-17 | 17-19 | 19-21 21-23 23-25
No. of children 7 6 9 13 f . 5 4

T S A & T R R SR G T SR e

o e #} e 10 A o A S o o 3.5 Tl A A T G A

TR SR AR SR T |

5-

An article is made by scoupiﬁé out a hemisphere from each end of a solid

wooden cylinder, If the height of the cylinder is.10 cm and its base radius is

3-5 cm then find the surface area and volume of the remaining solid.
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